
EN | NERONE | User and Maintenance Manual

62

OVENS

FEM07NEMIDGNV
7-tray electric oven with mechanical convection

FEM07NEMIDGNVH2O
7-tray electric oven with steam convection 
mechanical

FEDL07NEMIDV
7-tray electric oven with digital convection

FEDL07NEMIDVH2O
7-tray electric oven with digital steam convection

FEM10NEMIDGNV
10-tray electric oven with mechanical convection

FEM10NEMIDGNVH2O
10-tray electric oven with steam convection 
mechanical

FEDL10NEMIDV
10-tray electric oven with digital convection

FEDL10NEMIDVH2O
10-tray electric oven with digital steam convection

7 Trays 10 Trays



NERONE | User and Maintenance Manual | EN

63

OVENS

Door

Control panels



EN | NERONE | User and Maintenance Manual

64

OVENS 7 Trays
N° DESCRIPTION 10T Q.TY
4 MOTOR (120W) MFA80H25-VA 230-50/60/1 2P DR ITP + 2
5 MOTOR SHAFT GASKET STOP 2
6 HEATING ELEMENT 2700W 2
7 FAN D200 H43  7 BLADES 2
8 7T COMPLETE CONVEYOR 1
9 STAINLESS STEEL FLAT GRILL D.280 2
12 START CAPACITOR SUPPORT BRACKET 1
13 DOOR UPPER BRACKET 1
14 DOOR LOWER BRACKET 1
15 FITTING FOR DOOR DRIP TRAY 1
16 CONDENSATE COLLECTION TRAY 1
21 BULB-HOLDER COMPLETE WITH BULB 2
22 OVEN DOOR MICRO-SWITCH 1
24 DOOR CLOSURE TANG 1
25 LOWER REAR CLOSURE 1
28 ELECTROVALVE EV SERIES R DOUBLE 3/4 1
31 SAFETY THERMOSTAT 40-335° S/POS. 1
32 ELECTRIC COVER 1
33 VENTILATED REAR PANEL 7T 1
34 REAR FAN SUPPORT 1
35 FAN 120X120 H 38 85°C 1
36 EXTERNAL SIDE PANEL 7T 2
37 EXTERNAL ROOF 1
38 RH 7T TRAYS SUPPORT 1
39 LH 7T TRAYS SUPPORT 1
40 DOOR GASKET 7 T   L.2678 mm 1
41 BLACK CYLINDRICAL FOOT FOR OVEN     4
42 DRAIN OUTLET GRID 1
43 COMPLETE DOOR 7 T 1
45 CONDENSATE DRAIN PIPE 11x19 L.500 mm 1
47 LOWER PART STEAM INJECTION SUPPLY PIPE D.11x19 L.640 mm 1
48 MOTOR SHAFT GASKET 2
49 START CAPACITOR 6.3 µf 1
50 NEEDLE PROBE 1
51 METER 9A 4P AC1 220/230V 1
52 METER 25A 4P AC1 220/230V 1
53 CYCLE INVERSION TIMER 230V50HZ (MECHANICAL OVEN) 1
54 MINIRELAY 4051 1
55 TEMPERATURE PROBE 1
56 VENTIL. UPPER STEAM INJECTION PIPE D.11x19 L.750 mm 1
80 DOOR CONDENSATE COLLECTOR 1
81 INTERNAL GLASS OPENING KIT 1
82 HANDLE KIT 1
83 DOOR EXTERNAL GLASS FIXING KIT 1
84 7T EXTERNAL GLASS SERIGRAPHY (COMPLETE WITH SCREWS) 1
85 7T WELDED DOOR FRAME 1
86 INTERNAL GLASS (COMPLETE WITH ANGULAR BRACKETS) 1
87 BUSH KIT FOR DOOR (BUSH + SOCKET HEAD SCREW- M8x16 STAINLESS STEEL + NUT M12 STAINLESS STEEL) 1
88 HINGE KIT FOR DOOR (BRACKET + SCREW- M4x50 STAINLESS STEEL + NUT M4 STAINLESS STEEL) 1
89 MAGNET ON DOOR 1
90 MECHANICAL COMMAND CONTROL BOARD 1
91 60 MINUTE TIMER (MECHANICAL OVEN) 1
92 BUZZER FOR TIMER (MECHANICAL OVEN) 1
93 GREEN LED 09 LUMINOUS SIGNAL 1
94 ORANGE LED 09 LUMINOUS SIGNAL 1
95 ADJUSTABLE THERMOSTAT 50-280° C/CAP. 1
96 COMMANDS KNOB 1
97 MANUAL COMMAND PANEL SERIGRAPHY +H20 1
98 WATER INJECTION BUTTON (MECHANICAL OVEN) 1
99 TWO-WAY SWITCH LUM 16A 1
100 2 DISPLAY OVEN BOARD 1
101 CONNECTOR (SOCKET) FOR NEEDLE PROBE 1
102 DIGITAL COMMAND PANEL 1
103 DIGITAL COMMAND PANEL SERIGRAPHY 1



NERONE | User and Maintenance Manual | EN

65

OVENS 10 Trays
N° DESCRIPTION 10T Q.TY
4 MOTOR (120W) MFA80H25-VA 230-50/60/1 2P DR ITP + 2
5 MOTOR SHAFT GASKET STOP 2
6 "HEATING ELEMENT 3F 2X2500W D.E-235    5.000 W TOT" 2
7 FAN D200 H80  7 BLADES 2
8 10T COMPLETE CONVEYOR 1
9 STAINLESS STEEL FLAT GRILL D.280 2
12 START CAPACITOR SUPPORT BRACKET 1
13 DOOR UPPER BRACKET 1
14 DOOR LOWER BRACKET 1
15 FITTING FOR DOOR DRIP TRAY 1
16 CONDENSATE COLLECTION TRAY 1
21 BULB-HOLDER COMPLETE WITH BULB 2
22 OVEN DOOR MICRO-SWITCH 1
24 DOOR CLOSURE TANG 1
25 LOWER REAR CLOSURE 1
28 ELECTROVALVE EV SERIES R DOUBLE 3/4 1
31 SAFETY THERMOSTAT 40-335° S/POS. 1
32 ELECTRIC COVER 1
33 VENTILATED REAR PANEL 10T 1
34 REAR FAN SUPPORT 1
35 FAN 120X120 H 38 85°C 1
36 EXTERNAL SIDE PANEL 10T 2
37 EXTERNAL ROOF 1
38 RH 10T TRAYS SUPPORT 1
39 LH 10T TRAYS SUPPORT 1
40 DOOR GASKET  10T  - L.3118 mm 1
41 BLACK CYLINDRICAL FOOT FOR OVEN     4
42 DRAIN OUTLET GRID 1
43 COMPLETE DOOR 10 T 1
45 CONDENSATE DRAIN PIPE 11x19 L.500 mm 1
47 LOWER PART STEAM INJECTION SUPPLY PIPE D.11x19 L.640 mm 1
48 MOTOR SHAFT GASKET 2
49 START CAPACITOR 6.3 µf 1
50 NEEDLE PROBE 1
51 METER 9A 4P AC1 220/230V 1
52 METER 25A 4P AC1 220/230V 1
53 CYCLE INVERSION TIMER 230V50HZ (MECHANICAL OVEN) 1
54 MINIRELAY 4051 1
55 TEMPERATURE PROBE 1
56 VENTIL. UPPER STEAM INJECTION PIPE D.11x19 L.1100 mm 1
80 DOOR CONDENSATE COLLECTOR 1
81 INTERNAL GLASS OPENING KIT 1
82 HANDLE KIT 1
83 DOOR EXTERNAL GLASS FIXING KIT 1
84 10T EXTERNAL GLASS SERIGRAPHY (COMPLETE WITH SCREWS) 1
85 10T WELDED DOOR FRAME 1
86 INTERNAL GLASS (COMPLETE WITH ANGULAR BRACKETS) 1
87 BUSH KIT FOR DOOR (BUSH + SOCKET HEAD SCREW- M8x16 STAINLESS STEEL + NUT M12 STAINLESS STEEL) 1
88 HINGE KIT FOR DOOR (BRACKET + SCREW- M4x50 STAINLESS STEEL + NUT M4 STAINLESS STEEL) 1
89 MAGNET ON DOOR 1
90 MECHANICAL COMMAND CONTROL BOARD 1
91 60 MINUTE TIMER (MECHANICAL OVEN) 1
92 BUZZER FOR TIMER (MECHANICAL OVEN) 1
93 GREEN LED 09 LUMINOUS SIGNAL 1
94 ORANGE LED 09 LUMINOUS SIGNAL 1
95 ADJUSTABLE THERMOSTAT 50-280° C/CAP. 1
96 COMMANDS KNOB 1
97 MANUAL COMMAND PANEL SERIGRAPHY +H20 1
98 WATER INJECTION BUTTON (MECHANICAL OVEN) 1
99 TWO-WAY SWITCH LUM 16A 1
100 2 DISPLAY OVEN BOARD 1
101 CONNECTOR (SOCKET) FOR NEEDLE PROBE 1
102 DIGITAL COMMAND PANEL 1
103 DIGITAL COMMAND PANEL SERIGRAPHY 1


